Nanyang Primary School
Primary 5 -
Mathematics
Term 1 Weighted Assessment

Name: ( ) Marks:
Class: Primary 5 ( ) /20
Date: Parent’s Signature:

Duration: 45 minutes

The use of calculators is NOT allowed.

Please sign and return the examination paper the next day. Any
queries should be raised at the same time when returning paper.

Quuestions 1 to 3 carry 1 marks each. Questions 4 to 5 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make
your choice (1, 2, 3 or 4) and write your answer (1, 2, 3 or 4) in the bracket ( )

provided.
(7 marks)

1 What is the value of 312 000 + 4007

(1) 78
(2) 780 . )
(3) 7800

(4) 78000




What is the value of 16 + (39~ 7) +4 x 27

(1) 20
2) 24
3) 32

4) 48

2 9
What is the value of = bS —5-?

M =
@
@ 2
@

2
Donna had 168 stamps. She gave 3 of her stamps to 7 friends. Each
friend received an equal number of stamps. How many stémps did each
friend receive?

(1) 8
@ 18

@ 24

4y 112 ‘ .



5 A repeated patter is formed using numbers 3, 2, 1 and 0. The f rst 18
numbers are shown below.

3,0 2 0 1,3 0,2 0,1, 3 0,2 0 1, 3 0 2.
15t pnd g 18t

Find the sum of the first 44 numbers.

(1) 55
(2) 54
(3) 53
4) 48

Questions 6 to 8 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. (3 marks)
¢ Write six million, twenty-seven thousand and nineteen in numerals,

Ans:
7 8 children shared 5 pizzas equaﬂy for lunch. What fraction of a pizza did

each child get?

Ans:

2
8 Express 35 as a decimal.

Ans:




Questions 9 to 13 cary 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questtcns which require units, give
your answers in the umts stated. ‘ (10 marks)

9 Hui En bakes 420 cookies each day, She packs them into tins of 30
cookies. How many tins of cookies will she have in 9 days?

Ans:

10  On Monday, Mr Yusof bought 4 tables. Each table cost $357. On
Tuesday, he bought 6 identical chairs. The 6 chairs cost as much as the
- 4 tables, How much did each chair cost?

Ans: §

gy Find the missing number in the box.

6
=x35=3x| 7
73 o

Ans:




1
12  Prisha had some stickers at first. She gave away 5 of her stickers and
bought another 372 stickers. In the end, she was jeft with 912 stickers.

How many stickers did Prisha give away?

ADs:

413 Peter had a six-sided die. Each side had a number from 1 to 6. He rolled
the die three times. Each time, he recorded the number he obtained.
The product of the three numbers he obtained was 96, What were the

three numbers he obtained?

Ans: , L

End of Paper
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MNanyang Primary School
Primary 5
Mathematics
Term 2 Weighted Assessment

Name: . ( ) Marks:
Class: Primary 5 ( ) ,. /20
Date: Parent's Signature: _____

Duration: 45 minutes

The use of an approved calculator is allowed.

Please sign and return the examination paper the next day. Any
queries should be raised at the same time when returning paper.

Questions 1 to 2 canry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. : (4 marks)

1 In the figure below, ABC is a triangle. FBC and EBA are straight lines.
Name the height of triangle ABC given its base is AC.

A

Ans:




2 in the figure below, PQRS is a rectangle. T is a point on QP.
QR =24 cm, RS =9 cmand QT = 6 cm. Find the total area of the

- unshaded parts.
A
8 cm
9cm
S
Ans: cm?




For questions 3 to 6, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets | ] at
the end of each question or part-question. (16 marks)

3 Ali stacked 11 unit cubes and glued them together to form the solid
below.

Top View

Side View

» » - »

. . FrontView

(a) Draw the top view and the side view of the solid on the grids below.

Top View Side View
-] - k] E-d * & £ E k] » L3 L] o - -] i 2
L] L4 L3 L3 k4 9 k-] L3 @ L S o -4 > < i 2
s & % s & e © = e °© 8 8 8 @ e » |
|
° ® ] 2 ° 2 & o o ° Y P 3 »* » ° E
@ o £ 4 L] L -3 (-] = L3 » (-4 2 & L o k]

» L4 @ » » « -~ » - @ k-] ® - - o L3

[2]

(b) Find the least number of unit cubes Ali can add to the solid to make
it into a cuboid,

Ans: (b) 1]

(]




Siti and Jane each had an equal amount of flour at first. The same
amount of flour was used to bake each cake. Siti baked 8 cakes and had
300 g of flour left. Jane baked 3 cakes and had 1.65 kg of flour left.

{a) How many kilograms of flour did they have left altogether after
baking the cakes?

(b) How much flour did each of them have at first?

Ans: (a) : m
(b) A [3)




5

, ) v
At first, Tank W was g«ﬁlied with water and Tank X was filled with water

to a height of 2 cm as shown below.

Tank W Tank X

18 om

[T ————
12 cm 14 cm

(a) What was the volume of water in Tank X at first?

(b) Rizal poured all the water from Tank W into Tank X. What was the
volume of water in Tank X in the end?

Ans: (a) ; (1]

[#3]




The table below shows the prices of muffins at two shops. The muffins -
are only sold in sets of 6 muffins in Cassie’s Bakery or 7 muffins in Daisy’s

Bakery.
Shop Price of muffins
Cassie’s Bakery 6 muffins for $15
Daisy’s Bakery 7 muffins for $17

(a) Usha has $8.15. She wants to buy 14 muffins from Daisy’s Bakery.

How much more money does she need to buy the 14 muffins?

(b} Zbheng Hah has $97. He wants to buy the greatest possible number
of muffins with his money from one of the two shops. What is the

greatest possible number of muffins he can buy with his money?

Ans: (a)

(b)

(2]
{3l

End of Paper
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Questions 1 10 3 carry 1 marks each. Questions 410 8 cany 2 marks swch, For
each guestion, four options are given. One of them i the corect answer, Moke
your cholcs (1, 2, 3 or 4) and wiite your answer {1, 2, 3or 4} in the bracket { )

{7 marks)

1 Whatis the vakm of 312 000 + 4007

1 78

@ 780
{3) 7800
4 78000

3120 % &

k-4 A repeatad pattem is formed using numbers 3, 2, 1 and 0. The first 18

rumbers ars shown below,

3,02 0 103 0,2 0, 4,3 0, 2 0 1 3 0. 2..

13 200 yd t groug

Fiod tha sum of the st 44 nombers.

[E -] ot b0+l 7B
@ 5 4an 5= ERR

@ 83 bry = A4

“ 48 AP4 3O+ C

-

= 180

4o

.2
32
~37
o

o

ﬂ
| &3
~

Whet is e valus of 16 (38~ 7) + 4 x 27

(ty 20 §¥333 X2
@ 24 crfse
@ a2 T 4
EO— 3
{4y 48
t 3
What it the value of & * 37
73

11
1y
- 2.3 .0

T &3 3%

18
2 18
2 3

53
3y 22
o B

73
5y B
4 5

{2

Dorna hedt 168 stamps. S!wg:avaéz-ofmrmmw‘lfrwwa Each
friend recoived an nqual riomber of slamps. How many stemps did each
friend raceive?

%

A 2 =
@ 8 o RE, S W
@ 18 (3 B 14
{3y 24
[C N & 4 !

£
{

34

Questions 910 13 coatry 2 marks sach, Show your working clearly and writs
your answers in the spaces provided, For quastions which require units, give
your answers in the unils siated,

{10 marks}

160 g

Hul En bokas 420 cookies aach day. She packs them inlo tins of 30
cookiez, How many tins of cookles will she have in 9 days?

Questions & fo 8 carry 1 mark sach.  Write your answers in the epaces

pmvnded For quesSons which raquire units, give your answers in the units

stated

§ 00 o0 1o 13
1 Wate six mifiion, twenty-seven thousand and nineteen in numerals.

Ans:

b ot 019

7 8 children sharad § pizzas squalty for lunch, Whast fraction of g pizza did

gach child got?
seec .;

2
8 Express 3 a3 3 decimal.
b3

v
”
s
g

3

4
had
-

£

4430 =% "r’g
v q = 12 (aet) b
53
Ans: 134
(3
10 On Monday, Mr Yusof bought 4 tables. Each table cost $357. On
Tussday, he bought 8 identical chairs, Thaﬁdmncostasmuchasﬁw
4 tables. How much did sach chair cost? R
2ogq O)zm!
o $3577 R4 2 a3 ; n LI
3 marks) Siaap s 5 = § 780 (ues) ¥ "}
Ans$ 238
11 Find tho missing number in the box,
v
-f;#",z * Jo43z 1o {ans
6 355
VTR
Ei
i
20 fans) Ansi__10

Ans: 27

Pag 1




1 ,
12 Prisha hod some siickers at firsd. &awmygdmmw
bowpht pacther 372 sickers. In the and, she was Joit with D12 stickers.

How muany stickers did Prisha give away? ,

Bl

% - 313

gz =312 = 540 - F 5%0°
Py - & Jé?
Smke 138 5 45

(o} 4

¥

<3

-y

s 15

13 Pelborhad asbesided oi. Enchskio bad a umber from 1 1o 8. He rolled
the o thres Sres.  Each times, e recxyded tha number he obisined,
The product of e iwes nimbers he obiained was 96, What wers tw

Hroa riambers he chialied?:
foled e dle ’ % ,
% times -y oo 1% ; -ﬁ*
0 e 2¥%48 f’"ﬁ!::’ 2
Brecied 3x33 = 3R MR .
. oy poe W £
. »'ntf? = ARy xé w4384 e e
b = 24X 4

Erxt of Paper
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Questions 1 1o 2 carry 2 marks each, Show your working Gearly and writs your
anwers in the spaces provided. For questions which raguire unlts, give your
arowers in the unlts stated. (4 marks}

in the figrae below, ABC s a riangie: FBC and EBA are straight fines,
HName the heipht of triangle ABC given is base is AC.

A

Ans: B |735]

For questions 3 to 8, show your working clearly and wiite your answers in the
spaces provided. The nisnber of marks svelable is shown in brackels | Jat
the end of sach question or part-quastion, {16 mnarke)

3 Ali stacked 13 unit cubss and gluad them Wogether 1 form the solid
below, .

. Top View

T Sieview
FromView -, "~ , " T

{8} Drw the top view and e side view of tho sodkd on the grids below,

Top View Side View
s e e R e s s L
I y - - I S
IO S i S PR . .
f T
> » - s - - - (3 g * »
S T . [_é . s
e > e s el e o e ls ey
2
{b} " Find the lewst number of urit cubes A¥ can add 10 the soid Io make.
# o a cuboid.
swotesy postible  cuyeld o~ 3232
= &
P 2T Langt
pus oy L 1]

2 In the figure below, PORS s a mciangle. T is 2 pot on QP
QR = 24 om. RS = 9 om and OT = § o, Find tha total aren of the

uvnshaded pans,
? 2 em R
Som
Som
T
L S
[ of dmded amorgle = Gam —dm
#ea o8 AgrY ; ® 3em

= 3 bem fatoy

= “D-(m2

kea of Apgs

= E.L)QQM 2 om

= j08 ml

T2em’ tlofay

= 1gom” (ans)

i

A sded wongle = & 2300 Kl
TR Tem?

: T Bhem”

Prea of rectargle F Dtem g Qom

b om*

M3 o ummded = e am® ~ Fean®

® 180 o Cang)

[

4 SH and Jane sach had an equal amount of Aour at Brst Tha same
amount of flour was used to bake sach cake, Sitj baked 8 cakes and had
300 g of fiour lofl, Jana baked 3 cokna and had 1.85 kg of four I

{a) How many kilbgrams of flour did they have left altogethar after
baking tha cakes? -

{b) How much flous did cach of them have ot first?

Pag 3
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= 0:&’?
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At firgt, Tank W mﬁ}ﬁwwmmmrwmemm
10 a feight of 2 orm as shown bokw.

Fank X

20m 3 415

4o

(g} Whatwns the volume of water in Tank X ot fiest?

{b) MMNEMWMT&*WWTWX What was th
volkuna of wator in Tank X in the end?

e of wpier % oY S ¥ Zom XidomaiS oy
= 430 on® fang)
beight of woter doe W > 5 R 0om
o 12em
Wlume 0 Bk W P xRl
TR 14

Ba%bord 423002 116 m® fans)

Aox @ 20 an’
© 1M o’

The tmbia below shows tha prices of s @t two shops. The mugfins |
are only xoid in sets of § muffing in Caesie’s Bakery or 7 muffins in Daisy’s

Hhop Price of mufine
Castio's Bakay & ofing for $16. ]
Daksy’s Bakery 7 muffins for 317 i

{a) Usha hay $8.15. She wants to buy 14 muffins from Daisy’s Bakesy.
How much more money Soes sha need 1o buy the 14 muffine?

(] Mﬂmtmwi'. Hewants 10 buy ihe groatast possibie number
muffing vith his money from ons of the two M_W&am

WwEl 23
Srra = 53R

$34 —~ §815 7 FI5- 95 Jang)
%:g. ' N\‘S‘f

[taloinhat W9
41 F 57 RET a1 #1177 SRR

s%b T 3L {omt) N 5471 = 35

Ju———

Ans. (2) %25-85 2
® 3¢ 13

End of Paper



